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AHTATGRI foIST :- General Instructions: -

o SHHQEIIBIH\TQTMO u%I 3 | (There are total 40 questions in this question paper.)

o J13f} usat siforart 2 | (All questions are compulsory.)

e URID U o f1u 1 3icb forarifda 8 | (Each question carries 1 mark.)
o URID U%I &P fo1u ar f[dacu f&u s1e 2, 318l fdascu o1 arlal 2 | (Four options are

given for each question, choose the correct option.)
e J[cId 3712 D [eT8 DI SBUICHD 3ib ofal & | (There is no negative marking for wrong

answers.)

1. What is the IUPAC name of CH3CH,
CH,OH?

(a) Ethanol

(b) Methanol

(c) Propanol

(d) Butanol

2.The most reactive hydrocarbon
towards bromine is:

(a) Ethene

(b) Ethyne

(c) Benzene

(d) Ethane

3.The molarity of a solution containing
5 moles of solute in 2 liters of solution
is:

(@ 25M

(b)5M

(c) 10 M

(dy1M

1. CH3CH>CH,OH T IUPAC -TH T 82
(a) TIATA

(b) AYATA

(c) UUTa

(d) SgATa

2. SHH & Ufd e 31 ufafearita
RESIACEES

(a) T

(b) WIS

(c) SofF

(d) T

3.2 @iex faq= H# 5 |id faoa & I1y
fqeTa= &1 AIAdT o1 gIi?

(@) 2.5 M

(b) 5 M

(©) 10 M

d) 1M




4.What is the empirical formula of a
compound containing 40% carbon,
6.7% hydrogen, and 53.3% oxygen?
(@) CHO

(b) CaH40;

(c) CH,O

(d) C3HeOs3

5. The total number of orbitals in a
shell with n=3 is:

(@3

(b) 6

(©9

(d) 12

6.The bond angle in NHs is
approximately:

(@) 90°

(b) 107°

(c) 120°

(d) 109.5°

7. The heat released when 1 mole of
water is formed in a combustion
reaction is:

(a) +285 kJ/mol

(b) =285 kJ/mol

(c) +418 kJ/mol

(d) —418 kJ/mol

8.The conjugate acid of HCO3 - is:
(a) CO5™

(b) HoCO3

(c) OH"

(d) H.O

9.What is the oxidation state of iron in
Fe,03?

(a) +2

(b) +3

(c) +4

(do

11.Which of the following is the
functional group of aldehydes?

(a) -OH

4. 40% T, 6.7% BISSIoM, 3R 53.3%
TR aTel AT BT SIUTT T T 62
(a) CH,0

(b) C2H402

(c) CH40

(d) C3HeO3

% n=3 aTel Ueb e H el bl dél Bl
?

(@3

(b) 6

(©9

(d) 12

6. NH; T ¢ 10T AT fasa1 g1l 62
(a) 90°

(b) 107°

(0) 120°

(d) 109.5°

7. 919 gg4 fiiforar # 1 i o 9T B,
I fpa-t ST IfoTd gidll 87

(a) +285 kJ/mol

(b) =285 kJ/mol

(c) +418 kJ/mol

(d) —418 kJ/mol

8. HCO;™ BT U 31 T 82

(a) CO5*

(b) H,CO;3

(c) OH"

(d) H,0

%. Fe,O; H TIET T HTRITHRUT [T &
?

(a) +2

(b) +3

(c) +4

(d)0

11. FofaRed & 9 ®F sifceesey &1
HTD THE &2

(a) —OH




(b) -CHO

(c) -COOH

(d) -NH;

12.Which of the following shows a
resonance effect?

(a) Benzene

(b) Ethane

(c) Ethanol

(d) Methane

13.What is the hybridization of carbon
in ethene (CoH4)?

(@) sp

(b) sp?

(c) sp’

(d) dsp?

14.What is the IUPAC name of
CHsCH,CHO?

(a) Propanal

(b) Propanone

(c) Ethanal

(d) Methanal

15.The reaction of ethene with
hydrogen in the presence of nickel is
called:

(a) Hydrogenation

(b) Halogenation

(c) Nitration

(d) Sulfonation

16.Which of the following is a
saturated hydrocarbon?

(a) Ethyne

(b) Ethene

(c) Methane

(d) Benzene

17.Which period of the periodic table
contains the noble gases Helium,
Neon, and Argon?

(a) Period 1

(b) Period 2

(c) Period 3

(b) -CHO
(c) -COOH
(d) =NH,

12. Fofafed & 9 &9 e UvTE yeRid

(a) ST

(b) T

(c) QAT

(d) HigA

13. Tl (C,H,) § BT P BIRivSEoRH
T 8?

(a) sp

(b) sp?

(©) sp

(d) dsp?

14. CH3CH,CHO T IUPAC -TTH &1 872
(a) WU

(b) TOH

(c) A

CRERE

15. Movd @1 Jufufa T Tl ot gregieA
& 1Y SHUTHAT BT T Hed 67

(a) BIRSISTHIHRUT

(b)

() lg

(d) e HRH

%{6. fafafed & § &F dq« gRgIHeH
?

(a) WIS

(b) T

(c) HigF

(d) donA

17. 3{Tad RO BT DI T 3Tad aIferaH,
a7, 3R i S WAl &) gHIRd
AT §?

(a) 3fTad 1

(b) 3MTdd 2

(c) 3MTad 3




(d) All of these

18.Which of the following has the
highest bond dissociation energy?
(a) Ha

(b) Cl

(©) O

(d) N

19.The shape of XeF, molecule is:
(a) Tetrahedral

(b) Square planar

(c) Trigonal bipyramidal

(d) Pyramidal

20.Which of the following molecules is

polar?

(a) CO;

(b) CH4

(c) NH3

(d) BF3

21.What is the molarity of a solution
containing 5 g of NaOH in 250 mL
solution?

(@01 M

(b)0.2 M

(c00.5M

(d)1.0M

22.Which of the following has the
highest mass percentage of carbon?
(a) Methane (CH,)

(b) Ethane (C,Hg)

(c) Propane (C3Hg)

(d) Butane (C4H40)

23.Calculate the number of atoms in
11.2 L of oxygen gas at STP.

(a) 6.02x 107

(b) 3.01x10%

(c) 1.204x10**

(d) 2.408x10%*

24.What is the empirical formula of a
compound with 40% carbon, 6.7%
hydrogen, and 53.3% oxygen?

(d) SIRIad T

18. Fufafad 7 3 et d4 faue S
Tad 31fip g7

(a) Hy

(b) Cl,

(c) O,

(d) N,

19. XeF, 370] FT THR T §7

(a) TS IOM

(b) IMHR JATAT

(o) Prenivig fgffirsta

CAERIEER)

20. Frgfaiead & & i a1 3] ydia g2
(a) CO;

(b) CH4

() NH3

(d) BF3

21. T 250 .1 O & 5 U1 NaOH &1
il (AR 1 g2

@ 0.1 M

(b) 0.2 M

(€) 0.5 M

(d) 1.0 M

22. fFuferfed 7 3 fad &6 &1 g
gfaerd o 3ifde 82

(a) HIUT (CH,)

(b) T (C,He)

(c) U (CsHe)

(d) ST (C4H10)

23.STP TR 11.2 L 3fiaitor 719 § GRATI37
D AT T B

(a) 6.02x10%

(b) 3.01x10%

(c) 1.204x10%*

(d) 2.408x10%*

24. T Giffes FSRIH 40% BT, 6.7%
gIZSIoH 31R 53.3% HTRIoH §, BT

ESICIRIS e K




(@) CHO

(b) CH,O

(0) C3HL0,

(d) CsHeO3

25.Which quantum number
determines the shape of an orbital?
(a) Principal quantum number (n)

(b) Azimuthal quantum number (I)

(c) Magnetic quantum number (m)

(d) Spin quantum number (s)

26.The maximum number of electrons
in a shell is determined by:

(a) n?

(b) 2n?

(©) n(n+1)

(d)n+2

27.What is the de Broglie wavelength
of an electron (mass 9.1 ><1O‘31kg)
moving with a velocity of 10’m/s?
(Planck's constant h=6.63x1073* J-s)
(@) 7.3x10™"" ' m

(b) 1.5x107""m

(©)2.0x107""m

(d) 6.0x107""m

28.The element with atomic number 34
belongs to which block of the periodic
table?

(a) s-block

(b) p-block

(c) d-block

(d) f-block

29.Which of the following has the
highest electron affinity?

(a) Fluorine

(b) Chlorine

(c) Oxygen

(d) Sulfur

30.The ionization enthalpy of nitrogen
is greater than that of oxygen because:
(a) Nitrogen is smaller in size

(a) CHO

(b) CH,O

(c) CuHLO,

(d) C3H6O5

25. I T HicH FaR BT B B
Ruifd Har g2

(a) UHW icH IBAT (n)

(b) PO HicH IBT (1)

(c) DT HicH =T (m)

(d) T ey = (s)

26. U BT U BT FeiagHI o AT
i gt 8

(@) n?

(b) 2n?

(©) n(n+1)

(d) n+2

27.10'm/s 1 91d Y I Tl Saide
(S&SH 9.1x 1072 'kg) P1 De Broglie
JTCe T 82 (Wb fRRIF h=6.63x107
J:s)

@ 7.3x107" m

(b) 1.5x10 ""m

(€) 2.0x107 " m

(d) 6.0x10™""m

28. TRHTY] TS 34 Il dcd 3MTad AR &
g =T I Tafdd g2

(@) -l

(b) p-Sleh

(c) d-slh

(d) f-S1h

29. fafafea o 9 fae! gaac st
a9 3ife g7

(a) TR

(b) IR

(c) RIS

(d) B

30. ATSCISH &1 STHTHRUT Soll TR
3 3 =t gt 87

(a) FTECISH 3THR A BleT §




(b) Nitrogen has half-filled p-orbitals
(c) Nitrogen has more electrons

(d) Oxygen has less nuclear charge
31.Which of the following is an alkaline
earth metal?

(a) Sodium

(b) Magnesium

(c) Aluminium

(d) Potassium

32.The atomic radius of an element
decreases across a period because:
(@) Nuclear charge increases

(b) Number of shells decreases

(c) Screening effect increases

(d) None of these

33. In the reaction: 2Na+Cl,—2NaCl,
which substance is oxidized?

(a) Na

(b) Cl2

(c) NaCl

(d) None

34.The oxidation state of chromium in
KoCr,05 is:

(a) +3

(b) +6

(c) +2

(d) +7

35.The change in enthalpy for an
exothermic reaction is:

(a) Positive

(b) Negative

(c) Zero

(d) Infinite

36.Which law of thermodynamics
defines entropy?

(a) Zeroth law

(b) First law

(c) Second law

(d) Third law

37.The equilibrium constant of a

(b) TSI 7 3fef- 218 p-ped Befl &
(c) SIS # 3ifieh 3eiael4 Bl §

(d) SHTRITS | & TG ST Bl &
31. e 7 o &g gedt u1d 27
(a) TifeTy

(b)

(c) TegfAfam

(d)

32. T 31qd | fodlt dd & iRATY] B
(a) NPT A gl &

(b) Al ! T HH Il §

(c) THIFT UHTa gdT 8

(d) 3TH Y IS TRI

33, 3fNfHAT 2Na+Cl,—2NaCl & HIF I
Terdf SiTaenRur SRl 87

(a) Na

(b) Cl,

(c) NaCl

(d) 3TH Y IS T8I

34, K>»Cr;0; H IFIH BT MTGHIHT
SARIT T 82

(a) +3

(b) +6

() +2

(d) +7

35. ST Siffshar & forg T &
uRadT &

(a) YTHS

(b) BUMTHSB

(©) I

(d) 3Fd

36. SEANIA®! &1 DI 9T 99 TSTd! &1
gRUTIRYT HRdT 87

(a) RAal Fram|

(b) Tgan faH

(c) g o

(d) T faw

37. U Ufaferar &1 I fRRIF 10 81 afe




reaction is 10. What will happen if the
concentration of the product is
increased?

(a) Forward reaction is favored

(b) Backward reaction is favored

(c) No change

(d) Reaction stops

38.The pH of a neutral solution at 25°C
is:

(@0

(b) 7

(c) 14

(d) 10

39.Which of the following is a Lewis
base?

(a) BF3

(b) NH;

(o H*

(d) AlCI5

40.The common ion effect is
associated with:

(a) Buffer solution

(b) Salt hydrolysis

(c) Solubility equilibrium

(d) None of these

TG DI Aigdl T af ST ol &1 8RT ?
(a) ST 31ffehar Pt HHTaT STt
(b) T SifNfhaT & TG Fgiit
(c) DTS TR T8l g

(d) Hffehar v St

%8. 25°C R T Ry UId T pH T BIdll
?

(@) 0

(b) 7

(c) 14

(d) 10

39. FARfoied & § &H U6 T34 &RF &7
(a) BF3

(b) NH;

(e H

(d) AICI;

40, MY 3 YT fhad Sefdd g2
(a) TB Ui

(b) THP 3Tge

(c) fareiar e

(d) 375 A DIs T8



Answer
Answer | S. No. | Answer

21

22
23

24
25

26
27

28
29
30

31

32

33
34

35

36
37

38

39

40

S. No.

10
11

12
13
14
15
16
17
18
19
20




